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1. What is the question of the paper?
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2. Why should we care about it?
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3. What is the answer?
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4. How did you (or the author) get there?
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Notations
k Firms hire physical capital

1 Firms hire labor

h labor’s work time

Y output in final good

E effective labor force (E = hl, the number of employed workers 1 times
Working time h)

A (K) labor augmenting externality

A»r(K) capital augmenting externality

K economy-wide stock of capital
£ the elasticity of substitution between effective labor and capital
I8 firm’s profits
U the managerial trade union’s objective function
v the elasticity of employment with respect to the union’s objective
0 the relative bargaining strength of the union
w wage rate per hour
r rental rate of capital
A the Lagrangian multiplier
Example
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